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{1 -1/ PART -1
91« {9 9 fArneme / CHILD DEVELOPMENT & PEDAGOGY

31 : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

1. 4 AR SR a9 AR &l e
w7 § gAE A, F[/ECT & AR W
AN iR BT OM GERAT R e
(game) &G W AR & S
TIMIIROT el 2 ¢
(1) FHEER (2) SATIHD
(3) WA (4) fewd

2. [qog # JeTane 6T STRH @l
yaiad Xl B, S @ T BRE
e ©
(1) fafYy fosm= w7 &

(2) QISR 987 9§
(3) FHH 9 |
(4) ANasTE T
3. fr=ffea & @ dm- Ao el 3
g Mg d R &A% g
SUYHT TeT & 7
(1) foenfoat & yewmicrs aaan
(2) FEfaH-f9ea qHEe & GHEE &
T s SEER &

(3) @D b GEHET GEIEN H A
& Giferd HE

(4) foeni¥ 1 TR TEEE H 6
I R o | = B | A
(Srarer) B

4. e gl H T B B IR 96
@ ¥ i 98 39 919 H X e
T % aa oiR IE% WRaR & A
FT 3| T8 el FaeT @

(1) %ad STIH ST A

(2) %ad S AR FH

(3) oTaRe SR e | TpR B SRR &
(4) I q TR SR T & ST SARBROT F

Level-3/4321

1. Positive facilitation of present learning
through past learning, for example
addition helps multiplication. This type
of transfer of learning is called :

(1) Vertical (2) Sequential
(3) Lateral (4) Bilateral
2. The democratic organisation of school
influence learning, this factor of
learning is related to :
(1) Methodological aspect
(2) Social aspect
(3) Physiological aspect
(4) Psychological aspect
3. Which of the following is not an
appropriate strategy for improving
students problem solving ?
(1) Functional fixedness of students
(2) Give extensive opportunities to
solve real-world problems
(3) Involve parents in children's
problem solving
(4) Monitor students effective and
ineffective problem solving
strategies
4. Rohan is reading a latest Bahubali comic
book because he cannot wait to see what
happens to Bahubali and his family. This
is best example of :
(1) Only intrinsic motivation
(2) Only extrinsic motivation
(3) Both intrinsic and extrinsic motivation
(4) Neither intrinsic nor extrinsic motivation

P.T.O.
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Hiepios JanE (FE) 8 S99 & g

freifoie & & -6 T STl b

e B ?

(1) fafy= faftal @1 Swam feenfR &
M & T B

(2) TH W AFDHHT TUE0T H ST

HET

(3) AHESI fAR=eT @l AR
% BT T

(4) ST B LW P [T GEHTA B
ST § S

Heaa] & Har ¥ 5 & W Afas
o 9@ AMel UX omuiRa e B
ST GX SR il & °

(1) E-S=eH &R

(2) T &Y

(3) 99T Y= &N

(4) ST Siqaateds WY

fF e fha UWEr dOe 9
HOM T GHEST H GHIEN BT 39
ff gifad &ear &1 39 e # foww
& I Bl &

(1) SATgefmEp

(Z)Err{ﬁ $ % AgHdl

3) T X S8 AR
(4) gaqar (FReaan) s™

frfofaa & @ @S- Ao fenffat &
FiivTh  (STeleIorh) fawm @i &
Wﬁﬂ%ﬁﬁﬂ@@ﬁ)ﬁaﬂéﬁ%?
) A (Sgfshedl) TR S
mﬁa%g; ¥ weayt Wl Rk
P PG TG BT BE A
(3) fRE ® W TER B TR
HH H a1 BEA I ST qed
gﬁ?ﬁﬁﬁﬁﬂi’rmﬁraﬁng

(4)%@&?&%3}16@%@?5@6
& 6 ‘A M
HeMaY Y91 47 B B gHES
7T GUST FHifoTT
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[4]

Which of the following is a good

assessment strategy to avoid cultural

bias ?

(1) Assess students using a variety of
methods

(2) Use a single, good standardized
test

(3) Assume that ethnic differences are
due to heredity

(4) Avoid using  portfolio  for
assessment purposes

In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?

(1) Pre conventional level

(2) Conventional level

(3) Post conventional level

(4) Mutual interpersonal level

A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily
influenced by :

(1) Heredity

(2) Environment

(3) Early-later experience

(4) Continuity

Which teaching strategy is most likely

to foster the development of critical

thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create
timelines of important historical
dates

(3) Giving worksheets to students that
require them to recall the facts
presented in their text books

(4) Presenting students with statements
such as "Lal Bahadur Shastri was
our greatest Prime Minister" to
defend or refute



10.

11.

12.

13.

AR, e @ue ®
ﬁssﬁrmﬁﬁm%wﬁ-@ﬂﬁ@ﬁ:r@
ST H I HAF F © 7

(1) TR (T5aH) Hae

(2) YBAM IuAley

(3) YBaM fqas=H

(4) TEEM ArEE-FEY (BREIR)

RN fenfial & a9 # #Rd g Th

AeHOE & U gaite SugE FM

T B

(1) feenfiEl § ol &3 & [T e

() & guE FX e @
qReheaHIeT HLEMT

(3) NIl I FHHA Gk H I
T&N B

(4) Th FH TA GHA YAl IS Hl
I/ HET

J 9% A e F AW S &

3fte feorar B &

(1) 20/70 & 20/200

(2) Y MaR® o6l & | 20720 3fe

(3) A9 FaR® a6l & 9y 6/6 gfte

(4) 20/10 & 20/30
arftrmear (1R i T
mw%awﬁﬁﬁ
sl @t derdr | SNl gHe @ ffia

FE B U Teded B 8, 98 ® ¢
(1) Sradt TfrFm

(2) AFERIT oFast TferTy

(3) e e SAfF™

(4) YT SR ST

g% b AU, 99 T8 [BHl B W
Piad TE @ U, SAY fRAT
g, g Ml @ qXaE el wear @
iR ol B A9 WA & 9™
IFIIYFTT Sie T o/ B, g ¥

(1) FEEM AT FAlHhI R &
(2) WE STrTEal (TN ) &
(3) HAFfEH Hadl &

4) FiT qoE F
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10.

11.

12.

13.

[A]
According to Erikson, in complex
societies teenagers experience which of
the following state ?
(1) Identity crisis
(2) Identity achievement
(3) Identity moratorium
(4) Identity foreclosure

Most suitable strategy for a teacher,
when he/she is working with adolescent
students is to :

)
2

Ask students to make comparisons

Propose a problem and invite

students to form hypothesis

Give children
ordering operations

3)

experience  in

“4)

Children considered as low vision who

Construct an inclined plane or a hill

have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses
(3) 6/6 vision with corrective lenses

(4) 20/10to 20/30

Learner centered instructional strategy
in which students are encouraged to
construct their understanding with the
assistance of teacher through questions
and directions is :

(1) Discovery learning

(2) Guided discovery learning

(3) Problem based learning

(4) Project based learning

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when frustrated, is

indication of :

(1) Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

P.T.O.
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14.

15

16.

17.

18.

THR wErEgd © N TRR Ak
areres ffforars Riera & avafeea ¥ |

(1) R (2) AW

(3) T (4) TGN

1o - KOG o Y | 4791 G I et e G
YR, feEmrfi & wRER, @t @R
foemg onfe Su® A & gead Hd
g X 3 gy Eq ® -

() F@ T q (2 gEaA |
@) TITHA @) IJFTH A

AT ® IAN, FE B
i S e ST @ Y S8
W We oMY s g
el § BT €9 8, Heat
(1) SHfET

(2) 3T AfRAT~TSaT

(3) FRivE qewfa

(4) ST fa@E &=

et & orfeR, Frfafad & @ @e-a
fuar sl & Nueie  fhaTs
e Tl 7@ e ?

(1) INREHTHD- TS TebT
(2) STEIMETEl qE

(3) T+ T

(4) ST b

Ted & gha TOEr S§ SfEd iR
q ofF gRE @ el 8| e
Yes, aaql, g [ R faee &
Is oafis I (FH) 21 SE M B
IT FH I X AW P TG 2 |
A H GO ©
(1) fEacgfern
(3) feaafrm

a8
oA &
et @
o

afea
ITD

(2) feaanithar
4) feonfam
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15.

16.

17.

18.

is to social cognitive theory as

Vygotsky is to social constructivist
theory.

(1) Skinner
(3) Piaget
According to

(2) Seigler

(4) Bandura
Bronfenbrenner's

Ecological Theory,

peers and school etc. influence his/her
development and they belong to the :

student's family,

(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system

According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding
(2) Inter subjectivity
(3) Guided participation

(4) Zone of proximal development

According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?
(1) Hypothetico-deductive reasoning
(2) Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has :

(1) Dyscalculia (2) Dysgraphia

(3) Dyslexia (4) Dysphasis



19.

20.

21,

22,

frfafeg & @ f9-91 g9 foeniiat @

M WM W fgde dW H i

g R ?

(1) W& Sad § o9 fe &
HaiTeF FEE@q © 7

(2) ST S S ® 68 TeR Eied
H HqHA B 7

(3) oY o8 YT U A o 4 W
T & ?

(4) oMY S TR Jea¥ STedalics g
ST T B 7

gfeenanell St & fog et § @

BT FFHT SUGHRT 78] ©

(1) fafare e

(2) SUARHS freror

(3) @R (TiEs)

(4) AWM Fel § G

R & TJeaal aif e STeR

amedl olR oTEfye T P B B

T B PR B TE SR e

frepR eaa ®

(1) TARRET Farer

(2) SrEEA-TEERG e (SRt
FHrfeda =)

frfofed & & PH-T1 FF TR0 9= B
el SUgHRT €9 § U He © 7

(1) 99 omWEwedm da« I«@w @
fafare foemeat & farem 3

() Y omEwEN d« TR @
foemerat & fafare e & fRrew 3

(3) faRIY STasFedr i SIehl Sl A
Fe H STy @Ry fvem &

(4) A9 ETHAT W TED B
A e § Qe R A
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19.

20.

21,

22,

[A]

Which of the following question is most
likely to get students to reflect on their
purpose ?

(1) What is most important to you in
your life ?

2
3)

How can you organise your life ?
What can you do to get good
grades ?

(4) How can you set better short term
goal ?

Which of the following programme is
not suitable for gifted children ?

(1) Special classes

(2) Remedial Teaching

(3) Acceleration

(4) Enrichment in regular classroom
setting

Young people mainly girls engage in
strict dieting and excessive exercise.
This eating disorder in adolescence is
known as :

(1) Anorexia Nervosa
(2) Obsessive Compulsive Neurosis
(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

Which of the following statement most

appropriately defines the term inclusion ?

(1) Educating children with special
needs in special school

(2) Educating children with special
needs in special classroom of
school

(3) Educating children with special
needs most of the time in regular
class

Educating children with special
needs full time in the regular

classroom

“)

P.T.O.
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23.

24.

25.

26.

27.

Wﬁ%aﬁﬁﬁwﬁ@aﬁﬁ
97 7E e ?

(2) GAT W9 @ W | 2

(3)?maﬁﬁmmaﬁ
|

(4) dam W R emEre
Rr-fe ot foe e B

Sg foEmdl ofrm vy & o

et 36 THeM & S SUNH @

SEN #d & FE oW A

frfafeg & @ @9-T@ 2 ?

(1) FEelis Ao (2) STRM el

(3) "9 ¥ (4) T A

56 U Sl AYa @ S gEd W

JaTg BIE 3, Hea § ¢

(1) TS & 6T

(2) T P AR (BH)

(3) AT & HqRD &9

(4) T B TGHH (HRwHH)

STFM F g8 oEe Red T 9 offis

et T gEl @ ORA iR Sited &

g, Fedr © :

(1) & (<) farerer

(2) AR AR

(3) TEar SIfEm

(4) ST SFEH

frfafag & @ B9-a1 HI Ib A

3 freril & X TR ?

(1) fopre & ffed ok g Srgit
T § B 2|

(2) vt & o GFE ¥ '\E e
g

3) fowm omgERE SR amEReT @
SR (afRem) B

4) fTFE T & e W ad
T & |
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23.

24,

25.

26.

27.

Which of the following statement is

correct about the nature of emotions ?

(1) Emotional expressions
modified by learning.

(2) Emotions are permanent state of

the organism.

are

(3) Emotions are aroused by internal
stimuli.
(4) Certain facial expressions of

emotions have different meanings.

Which of the following type of learning
style is used when students approach
the learning material in a way that helps
them understand the meaning of the
materials ?

(1) Practical style (2) Impulsive style
(3) Surface style (4) Deep style
Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language

(3) Pragmatics of language

(4) Morphemes of language

Learning situation in which multiple
partners stimulate and encourage one
another is called :

(1) Team teaching

(2) Programmed instruction

(3) Cooperative learning

(4) Discovery learning

Which of the following statement is
incorrect about the principles of child
development ?

(1) Development follows a definite and
predictable pattern.

All individuals are similar in their
development.

Development is  product  of

hereditary and environment.

2)
3)

“) the

Development  works  on
principle of integration.
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(1) wte gfe

2) few-Tioaa® e
(afecti-areaedfes i)

(3) Siddarr® g
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[9]

28.

29.

30.

[A]
According to Gardner, the ability to
detect and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known as :
(1) Linguistic intelligence
(2) Bodily — kinesthetic intelligence

(3) Interpersonal intelligence

(4) Intrapersonal intelligence

According to Piaget, adolescents ability
to evaluate the logic of verbal statement
without  referring to
circumstances is :

real-world

(1) Propositional thought
(2) Transitive inference
(3) Cognitive mapping

(4) Decentration

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to
adulthood, mentally, emotionally,
socially and physically" ?

(I) A.T. Jersild
(2) E. B. Hurlock
(3) L P.Davis
(4) H. Sorenson

Level-3/4321

P.T.O.
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[A]
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[ 3135ft / ENGLISH ]

Direction : Answer the following questions by selecting the most appropriate option.

46.

47.

48.

Which one of the following words
underlined in the sentences given as
options has been used as a verb ?

(1) The stage performances are called
Raas Leela.

(2) The performers enacted Raas Leela

on the stage.

(3) Each actor performed in a circular

space on the stage in Raas Leela.

(4) The performing artist moved in a

circular space on the stage in Raas
Leela.

Select the correct option from the
following that correctly transforms the
following sentence from Direct speech
to Indirect speech :

He said, 'Congratulations !'

(1) He congratulated me.

(2) He said to me congratulations.
(3) He exclaimed congratulations.

(4) He is saying congratulations.

Fill in the blank with the correct

preposition :

Do you usually go out ........ Saturday
evenings ?

(1) in (2) at

(3) on (4) within

Level-3/4321

49.

50.

51.

52.

Choose the correct verb form in the
following sentence against the blank
space so as to complete the sentence :

"My father .......... for  Delhi
yesterday."

(1) leave (2) will leave

(3) left (4) will be leaving

Choose the correct option to fill in the
blank space in the sentence which
expresses the correct notion hinted in
the bracket against the blank space :

"You ...... (command) apologise or
face the consequences."

(I) must (2) shall

(3) may (4) could

Pick out the correct option to indicate
the use of adjective in the following
sentence :

"A Cool breeze blew from the sea."
(1) breeze (2) sea
(3) cool (4) blew

Identify the underlined word in the
given sentence.

I see him passing my house every day.
(1) Gerund

(2) Present Participle

(3) Infinitive

(4) Object



53.

54.

55.

56.

57.

Identify the correct meaning of the
underlined idiom in the following
sentence from the options given below :

"Climbing Mt. Everest is not a child's
play for anyone."

(1) very easy to do

(2) very difficult to do

(3) pleasant to do

(4) boring to do

Which one of the following sentences in
the options given below illustrates the
use of Intransitive verb ?

(1) Fire burns.

(2) The principal hoisted the flag on
Independence Day.

(3) She is reading the newspaper.

(4) Our team won the match.

Choose the correct set of articles from
the given options in the following
sentence against the blank space :

"The teacher wrote ......... outline of a
storyon ......... blackboard."

(1) a,a (2) an, the

(3) the,a (4) a,the

Which one of the following words is
not anoun ?

(1) advice (2) rice

(3) device (4) nice

Choose the word which is spelt
correctly :

(1) Beegning (2) Biginning

(3) Beginning (4) Begining

[13]

58.

59.

60.

[A]

"Reading improves your knowledge."

Identify the gerund in the above

sentence from the options given below :
(1)
2)
3)
“)

knowledge

improves

reading

your

Which of the options given below is the

correct passive form of the following

sentence ?

"The Bhagvad Gita presents a balanced
philosophy of life."

(1) A balanced philosophy of life is
presented by the Bhagvad Gita.

(2) A balanced philosophy of life has
been presented by the Bhagvad
Gita.

(3) The Bhagvad Gita has presented a
balanced philosophy of life.

(4) A balanced philosophy of life was
presented by the Bhagvad Gita.
Identify the compound word from the
options given below :

(1) Development
(2) Newspaper
(3) Powerful

(4) Childhood

Level-3/4321
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[A]

[14]

HET -1/ PART -1l
Y AT/ GENERAL STUDIES

[ A QRTAT, dliche SARTEHT Rl | 5T Td 1RSI / QUANTITATIVE
APTITUDE, REASONING ABILITY AND G.K. & AWARENESS ]

3% : =it goal & Gav 37 & [ qae afEd ey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

62.

63.

64.

65.

3 dSH H o|d MF 16 I T AR
I Y B AU 4 : 57 &, A
94 BIC T8 Hl g Fer & 7

(1) 8 a8 ) 9 a9

(3) 12 a9 4) 16 a9

fordl alien & 60% feemdl s # e
70% TR # I gY, A 20% fereed
ae fowai W® & q° 2500
foemet T ool & oot @ @, @ &
qheniEl i He e § 7
(1) 3000 (2) 3500
(3) 4000 (4) 5000

A BATRIILIAEHCAND,E TR
ZTIEEARCE A R AN C, B A
ger %, @ W H @ dm-a &N
MATE &4 ¥ gF e ?

(1) A,C g8l (2)C,D d sgI 81
(3) D,C § 981 81 (4)E, B § e 2|

TH T P Eel dae @t 81 A R B
F ag F X offed B1 A & T& &R Y
BIAZ o B T wah Wik B 7
(1) @@ W (2) W

(3) | (4) 9B
BAXC&H 9 ABICEH A D B
A% E B @ frafefeg & §
H-TT 7FF B ERT 7

() E& g B Bl

(2) B & @1 E 81

(3) D 1 9 E B

4 D& T A 3|
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61.

62.

63.

64.

65.

The average age of three boys is 16 years
and the ratio of their ages is4 : 5 : 7, find
out the age of smallest boy.

(2) 9 years

(4) 16 years

(1) 8 years
3) 12 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find

out total number of students :
(1) 3000 (2) 3500
(3) 4000 4) 5000

A is elder to B while C and D are elder
to E. E lies between A and C and C is
elder to B, then which of the following
statements is necessarily true ?

(I) AiseldertoC (2) CiseldertoD
(3) DiseldertoC (4) Eiselderto B
Bottom surface of a cube is empty. X is
marked between A and B. Y marked on

the left of A. Then Z marked on which
surface of cube ?

(1) bottom side (2) up side

(3) infrontside (4) in back side

A is the brother of B and C. D is the
mother of C. E is the father of A. Then
which statement is false ?

(1) Bissonof E.

(2) E is father of B.

(3) Eis husband of D.

(4) Aissonof D.



66

67.

68.

69.

70.

71.

72.

. STl auigrer H fRAw ofe & &g
yfafers srafRafad w©a 2 ?
(1) 8 2) 9
3) 12 “4) 11
=1 9o & 7 ag A SIRE
1CV, 5FU, 91T, 15LS, 170R
(1) 5FU (2) 9IT
(3) 15LS (4) 170R
Ry W fymdl § ¥ §97 B ¢
1) 171 () 131
(3) 161 4) 181
frrifoiiea o=t & =y § U U o
% AR fofem :
i.  Critical ii. Criterion
iii.  Crisis iv. Crisp

(2) i, iii, iv, ii
@) iv, iii, i, ii

(1) iii, iv, ii, i
(3) iii, iv, i, ii
i AN U H fquda w9 § forg
fer o, o s ok @ 199 SR &
Tt X 84T 18 HIF-A1 BN ?

() T (2) P

3) Q 4) R

g 'PROPERTY' ¥ e} & U@ fvem
W 2, s 7 § 991 S @ o @
R & o7 9 el avEer § 39

H9 D AA F A & 7

(1 0 @) 1

(3) 4 “4) 3

q AR AT B IAHA I B
SFE-AMY @8 9| A’ A H WBE A
F I I TS W B, A T B H
T fpa fesm & ® ?

(1) &Rt (2) JW

3) w 4) =™
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66.

67.

68.

69.

70.

71.

72.

[A]

In English alphabet, how many letters
are unchanged in mirror image ?

(H 8 2) 9
3) 12 @) 11

Find the wrong term in the following
series :

1CV, 5FU, 91T, 15LS, 170R

(1) 5FU (2) 9IT

(3) 15LS (4) 170R

Find the Odd one out from given
options :
(1) 171
(3) 161

(2) 131
4) 181

Write the following words in the order
given in the dictionary :
1. Critical ii. Criterion

iii.  Crisis iv. Crisp
(2) 1,iii, iv, ii

) iv, iii, i, ii

(1) 1, iv, 1,1
(3) iii, iv, 1,1l
If English alphabets are written in
opposite order, then which is the 8th
letter of the 19th letter from left side ?
1 T 2) P

3 Q 4 R

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them
here as what they have between them in
their order in English Alphabet ?

(1) 0 2) 1

3) 4 4) 3

Two persons A and B stand in front of
each other in morning. If A's shadow's
lies in the left side of 'A’, then in which
direction B's facing ?

(1) South (2) North

(3) East (4) West

P.T.O.



[A]

73.

74.

75.

76.

77.

78.

79.

Q%mﬁmm%aﬁ%aiﬁrdww
15% &1 91 1 &, 98 U9 d1d W
ST qed & e A ged Sfehd
fF 38 19% @9 & ?

(1) 34% (2) 40%

(3) 25% 4) 30%

oig a¥ ueEr, Rar @ oy 9Es g &
g H R S 9w 9w gE, R @
Y I G H oMY A 7 T A R
F KA Y S

(1) 40 a9 (2) 30 a9

(3) 50 ad¥ 4) 45 a9

A 6 TN % foobg g, 8 TN & WA

gm%w%,a?mﬁ/aﬁqﬁmaﬁ
(1) 25% @4
(3) 33%% B\

o 2x+7_3x+11:2x+8_5 s‘r, ?‘ﬁ

(2) 25% &=
(4) 33%% @9

5 2 3
x=7?
(O 1 2) -1
3) 2 4 =2

T%H JA9 H THYCE SFABA 264 THET
T qUT SEAN 924 THIeR B | T A
F TH HAE § FT SIIC BT 7

(1) 7:6 2) 6:7

(3) 3:7 @) 7:3

ThYE S | -6 G | 9 B
o ¥ 650 o T 2 qAY & oG H
676 To & SR ?

(1) 52059 (2) 572591

(3) 600 T4 (4) 625599

s I TERE 9 B TH @Y & W 2
¥ & fou SER fear &, AR &N B W
1% ot % Bl Al 399 240 51
s oM &l | ¥8 o9 o B 7

(1) 5,000 %o (2) 6,000 Fo

(3) 8,000 Fo (4) 12,000 o
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73.

74.

75.

76.

77.

78.

79.

A businessman gives 15% discount on
the list price of his items. How much
price he should mark on his items to the
cost price to get 19% profit ?
(1) 34% (2) 40%
3) 25% 4) 30%

After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.
The present age of the father is :

(1) 40 years (2) 30 years

(3) 50 years (4) 45 years

If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :
(1) 25% profit
3) 33%% loss
2x+7 3x+11_2x+8

(2) 25% loss
(4) 33%% profit

If 5, then
5 2 3

x=7?

1 2) -1

3) 2 4 -2

The curved surface area of a cylinder is

264 m” and its volume is 924 m3, then
what is the ratio between its diameter

and height ?
(1) 7:6 (2) 6:7
3) 3:7 4 7:3

What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) Rs. 520 (2) Rs.572

(3) Rs. 600 (4) Rs. 625

A principal lends on simple interest for
two years. If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs. 5,000 (2) Rs. 6,000

(3) Rs. 8,000 (4) Rs. 12,000



80.

81.

82.

83.

84.

125 HieX T WS 60 Bl afer goa
Pl = § TR T G B 30 Faos |
IR FX S 2 | G H qs e o ?

(1) 375 Hiex (2) 225 WX
(3) 125 #Hiex (4) 250 HeX
forem, e ToT0 e oTaRed ®
(1) & (2) fER
(3) e (4) fsTe

qerEsl & & O oY & MR W
harn & Frefafed  gemtdl @
S (vaitues orfy qdve) w9 §
FaRIT BT :

(i) 9o QT

(i) S

(iii) g Rie gger

(iv) 34 dr

HF?QQ?I gﬁn :

(1) (@), (i), (iii), (iv)

(2) G, (@), (i), @[1v)

(3) (), (i), (v), (iii)

4) (1), (v), (ii1), (1)

Rre o gera: o e @ Rife ®

(1) fEam (2) F==)

(3) famit (4) Ueas

I Iq P IR H oTOifcied O W

o FiTT

(a) ST <A U9TE fae |/ @ Sureme
ff |

(b) ST BRI H T AT, I BN
frer @ @1 Srey A T

SWE ¥ ¥ B9-a1/H9-8 & g8

2R 7

(1) %3 (a) T &

(2) Fad (b) T 2

(B) A (@ MTE (b) T

(4) (a) T (b) I T &
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80.

81.

82.

83.

84.

[A]

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?

(1) 375 meter (2) 225 meter
(3) 125 meter (4) 250 meter

The district, in which Gujari Mahal is

situated :

(1) Hansi (2) Hisar

(3) Panchkula (4) Ambala

On the basis of extent of the period as

Chief Minister, arrange the following

Chief Ministers of Haryana in

descending order (longest serving first) :

(i) Bhajan Lal

(i1) Bansi Lal

(i11) Bhupinder Singh Hooda

(iv) Devi Lal

Choose the correct code :

(1) (@), (), (i), (iv)

(2) (@), (@), (iid), @iv)

(3) (), (1), (iv), (iii)

(4) (1), (iv), (i11), (1)

The district, which is mainly irrigated

by Jui Canal :

(1) Hisar (2) Jhajjar

(3) Bhiwani (4) Rohtak

Consider the following statements about

Shanno Devi :

(a) Shanno Devi
Speaker
Assembly.

(b) When Haryana was formed; she
was elected as the Speaker of
Haryana Legislative Assembly.

Which of the above statement/

statements is/are frue ?

(1) Only (a) is true

(2) Only (b) is true

(3) Neither (a) nor (b) is true

(4) Both (a) and (b) are true

was the Deputy
of Punjab Legislative

P.T.O.



[A]

85.

86.

87.

88.

89.

90.

‘G RY TARR-TT H GUEEH BN

g ?
(1) g (2) gl ;)
(4) 9 A

(3) Bl ™
3R WO TESE 4 % aR A
Jrefaiead HeH W =R ST -

(a) T FHISA-TMREE-Ioad TrsE d
off e 21

(b)%ﬂﬂ%@fﬁaﬁzooﬁﬁo@faﬁzﬁ
|
SR & Q@ B9-91 HI 78 /8 -

(1) %ad (a) 9 8

(2) 3a9 (b) I 2

B) Fdq (@ MRTE (b) T2
(4) (a) 3T (b) AT 9 &

qReve] o efaiad ® 9 e e §
T e & ?

(1) HEa (2) GHd
3) ®HEA (4) S
AT F [T IW T
(1) Gua (2) el
(3) ST (4) -9

LIRS AT BRI Aef-2018 |
frfafeg § @ B9-a1 gewrl T a1 ?

(1) (2) wF

(3) FoMPpEE  (4) TR
frfofag § & B0 B9 &1 SHeen
T T99 F § 7
(1) BT

(3) #o=X

(2)
(4) Hard
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85.

86.

87.

88.

89.

90.

Who was the editor of 'Khair Andesh'
Newspaper ?

(1) Chandulal (2) Murlidhar

(3) Chhotu Ram (4) Sham Lal
Consider the following statements about
Eastern Peripheral Expressway :

(a) It is also known as Kundli-
Ghaziabad-Palwal Expressway.

(b) The total length of this expressway
is more than 200 K.M.

Which of the above statement is/are
true ?

ey
2)
3)
“)
The Markanda river does not flow in
which of the following district ?

(1) Kurushetra  (2) Sonipat

only (a) is true

only (b) is true

neither (a) nor (b) is true
both (a) and (b) are true

(3) Karnal (4) Ambala
The state tree of Haryana is :
(1) Peepal (2) Khejari
(3) Banyan (4) Neem

Which of the following was the partner
nation in Surajkund International Craft
Fair-2018 ?

(1) Egypt

(3) Kazakhstan

(2) France

(4) Kyrgyzstan
Which of the following districts has the
lowest population density ?

(1) Karnal (2) Sirsa

(3) Jhajjar (4) Mewat
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[A]

- IV / PART = IV
H7gX GEH / COMPUTER SCIENCE

A@sr : =i god] % v @7 & [T @@ fEd 4w g

Direction : Answer the following questions by selecting the most appropriate option.

91.

92.

93.

i wg==a (@ &) V = {A, B, C,
D} T %R g9 (T §T) E = {AB,
AC, BC, BD, DC} 91 U% S/HR4cs U%
G={V,E} W @R & |

T § 9 &9-91 % G & % SfEd
AR BT & °

(1) ABCD (2) BACD

(3) BADC (4) ABDC

99 U9 W BSF 9= & faQ o fou (g
%H) & & 'We Love BSF Very Much'
N % e = # § #-| SugE
fopea & 7

(1) <html> We Love <FF = "Border
Security Force"> BSF </FF> Very
Much </html>

<html> We Love <BSF = "Border
Security Force"> BSF </BSF>
Very Much </html>

<html> We Love <abbr title =
"Border Security Force"> BSF
</abbr> Very Much </html>
<html> We Love <Full "Border
Security Force"> BSF </Full> Very
Much </html>

-1 q97 & 9-2 TR R &Y

2)

3)

“4)

w9-1 -2
i. a3 (baidu) a. Hiew AeathT
ii. orcfiemen (alibaba) b. E-Fd

iii. f&#s-37 (linkedin) c. &9 o4

iv. AT wEReE d. SR i
V. TIHA (airmail) e. a9 TP
TT-1 T &FA-2 1 GAA ©

(1) i-d, ii-a, iii-c, iv-b, v-e

(2) i-c, ii-d, iii-a, iv-e, v-b

(3) i-e, ii-a, iii-b, iv-c, v-d

4) 1i-c, ii-e, iii-b, iv-d, v-a
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91.

92.

93.

Consider a directed graph G = {V, E}
with vertex set V = {A, B, C, D} and
edge set E = {AB, AC, BC, BD, DC}.
Which of the following is a valid
topological ordering of graph G ?

(2) BACD
(4) ABDC

(1) ABCD
(3) BADC

Which of the following is appropriate
option to display on web page 'We Love
BSF Very Much' with a tool tip (full
form) for the word 'BSF' ?

(1) <html> We Love <FF = "Border
Security Force"> BSF </FF> Very
Much </html>

<html> We Love <BSF = "Border
Security Force"> BSF </BSF>
Very Much </html>

<html> We Love <abbr title =
"Border Security Force"> BSF
</abbr> Very Much </html>
<html> We Love <Full "Border
Security Force"> BSF </Full> Very
Much </html>

2

3)

“)

Consider Column - I and Column - 2 :

Column-1 Column-2
1. baidu a. Social Networking
ii. alibaba b. E-mail
iii. linkedin c. Search Engine

iv. mozilla firefox d. Online Shopping
V. airmail €. Web Browser
Match of Column-1 and Column-2 is :
(1) i-d, ii-a, iii-c, iv-b, v-¢

(2) i-c, ii-d, iii-a, iv-e, v-b

(3) i-e, ii-a, iii-b, iv-c, v-d

4) 1i-c,ii-e, iii-b, iv-d, v-a

P.T.O.



[A]

94.

95.

96.

97.

98.

-1 T ®9-2 T foEn &)
-1 -2

i. UEHETE THd a. REe SEhdY TR

i, SR b. fRfeET Rew

iii. 39 c. i

iv. SHEemEd d. s wE fawy

v. @M IR e. ¥ d 7Ty

-1 T 92 H GAA 8

(1) i-e, ii-a, iii-b, iv-c, v-d

(2) i-c, ii-e, iii-b, iv-d, v-a

(3) i-d, ii-a, iii-c, iv-b, v-e

@) i-c, ii-d, iii-a, iv-e, v-b

DBMS # T% di% Ufedl #e W @) & |

AN BT AESEEET RayERg §

TN S S (FeAtael IRr)

“wr dfedt e : dig dfedt 9 gar ®

(D T®HATH (2 Thd T

(3) |,H & 4) € 9 =g

C++ & Tz ® 9 ¥ a9-a1
T & 7
() W | (Fe) & B wad
(PRM), FAE B TR TRE e
AT ST 2 |
2) T FME F TEE BRM, FE
X RCAING foam S & |
(3) TH FAH (Fem) B Wl ST qe e
Faq FAE § Wiedh TR HERM

AR & uHd fRar S @ § |

(4) ®fied o 989 # ARMS A3W
Faq I & B Gehdr 2|

OSI & acd 2 :

(1) SR fFER Setamiwme

(2) AR e e

(3) A RRRE eHHaA

(4) A e e RE

C++ # = & @ aFar & IFd

Y WREER 78§ ?

(1) private (2) public

(3) protected (4) mutable
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94.

95.

96.

97.

98.

Consider Column-1 and Column-2 :
Column-1 Column-2

i. Microsoft Excel a. Remote Desktop Access

ii. Oracle b. Operating System
iii. Ubuntu c. Spreadsheet
iv. EBCDIC d. Binary Code System

v. Team Viewer e. DBMS
Match of Column-1 and Column-2 is :
(1) 1i-e, ii-a, iii-b, iv-c, v-d
(2) i-c,ii-e, iii-b, iv-d, v-a
(3) i-d, ii-a, iii-c, iv-b, v-e
4) 1i-c,ii-d, iii-a, iv-e, v-b

Consider a weak entity set in DBMS.
Cardinality ratio 'strong entity set :
weak entity set' in their binary
identifying relationship is :

(1) One to one (2) One to many

(3) Many toone (4) Many to many

In context of C++, which of the
following is invalid statement ?

(1) Friend function of class is not
considered a member function of
the class.

Member function of a class can be
defined outside the class.

2

Static data member of class can be
accessed only by static member
function of the class.

3)

Static data member is initialized
with a zero only.

OSI stands for :
(1) Online Secure Interconnection

“)

(2) Online Systems Internet
(3) Open Security Information
(4) Open Systems Interconnection

In C++, which of the following is not a
valid access specifier ?

(1) private (2) public

(3) protected (4) mutable



99.

100.

101.

102.

103.

104.

EMPLOYEE 5@ # & UH Twiizsl &
ecode I HIA & [, T address H
'INDIA' 3l &, M= SQL #&d W
foam &Y

SELECT ecode

FROM EMPLOYEE

WHERE ....... ;
e & @ G ®O T a0 @
fe gaifos g & 7
(1) address LIKE '_INDIA_'
(2) address = %INDIA%
(3) address AS '%INDIA_'
(4) address LIKE '%INDIA %'

P # 9 SIReE! &1 #F-81 998 SQL
4 Wi (FFa/ades) SifRes @
S 99 & 7

(1) COUNT, MAX, AVG, SUM

(2) MAX, AVG, SUM, SELECT

(3) UNION, COUNT, MIN, DESC

(4) AVG, MIN, MAX, ASC

T I A TqR/Ul % Tgee
qﬁwﬁﬁ%@sQLm%:

(1) MODIFY  (2) UPDATE
(3) INSERT (4) ALTER

g & @ D991 B C++ § Sfaaifad
(ai¥e) 7 3 7

(1) FRRE (2) TR

(3) o (4) SEARE aEReT

i Relse Tn) = Tn — 1) + 2 &
HHIEM BN, Sl n > = 0§41 7(0) = 5
2l

(1) Tm)=2n-5 (2) T)=n->5

(3) Tm)=2n+5 (4) T(n)=n-3

C++ § % difsige @l fSaaaX qor sdi
FAE & gAY Jfetae § SMRTARs &
YT B © |

(1) Copy constructor

(2) Default constructor

(3) Overloaded constructor

(4) Non-parametrized constructor
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99.

100.

101.

102.

103.

104.

[A]
Consider the following SQL query to

retrieve ecode of employees from
EMPLOYEE table, whose address
contains 'INDIA" :

SELECT ecode

FROM EMPLOYEE

WHERE ....... ;

Which of the following is most suitable
to complete the query ?

(1) address LIKE'_INDIA_'

(2) address = %INDIA%

(3) address AS '%INDIA_'

(4) address LIKE '%INDIA %'

Which of the following set of
operations is a valid set of aggregate
operations in SQL ?

(1) COUNT, MAX, AVG, SUM

(2) MAX, AVG, SUM, SELECT

(3) UNION, COUNT, MIN, DESC

(4) AVG, MIN, MAX, ASC

SQL command used to modify attribute
values of one or more selected tuples is :
(1) MODIFY (2) UPDATE

(3) INSERT (4) ALTER

Which of the following feature is not
supported in C++ ?
(1) Inheritance
(3) Reflection

(2) Abstraction
(4) Dynamic Binding

Solution to recurrence relation 7(n) =
T(n —1) + 2 is given by, where n > =0
and 7(0) = 5.

(1) Tm)=2n-5 2) Tn)=n-5

B) Tm)=2n+5 4) Tn)=n-3

.............. is used to declare and
initialize an object from another object
of same class in C++.

(1) Copy constructor

(2) Default constructor

(3) Overloaded constructor

(4) Non-parametrized constructor

P.T.O.
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<html> Task Completion Status
<meter value = "0.8"> 80% Completed
</meter> </html>

99 U8 W WERid Aeeye & aR H &

BB BT G B

[: R 'Task Completion Status:'
YERIT 8|

II: 3T '80% Completed' Wi @l
B |

I1:80% T 9 §AT, Tk Flithehel I
TETTT BT |

(1) 1w 11
(3) 1T I

(2) T I
(4) 1, 11T I

T T T B B
ufdishar Tk AR 3
739 |

(1) o o dio
(3) &
TECIHUA H uferde, 39 gon
F AR FA F UgH A &, [ H
Tafehe BT 2 |

(I) <SCRIPT >

(2) <SUB>

(3) <SUB SCRIPT>
(4) < SUB SCR>

= 8§ - g ¥ Red o

.............

7 T B 7
(1) <p> (2) <br>
(3) <abbr> (4) <sup>
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There are several common terminologies
used for signal rate in the literature of
computer networks. Which of the
following is not a common terminology
for signal rate ?
(1) Pulse rate
(3) Bitrate

(2) Modulation rate
(4) Baud rate

Consider the following HTML code :

<html> Task Completion Status
<meter value = "0.8"> 80% Completed
</meter> </html>

Choose true statement(s) about the

output displayed on web page :

I: Text '"Task Completion Status:' is
displayed.

IT: Text '80%
displayed.

Completed' is not

I :

A graphical gauge, 80% filled with
colour is displayed.

(1) Tand II (2) I and I
(3) Tand III (4) I, II and III

............ is a challenge response
mechanism to ensure that on the other
side a person is responding and not a
machine.

(1) O.T.P. (2) Q.R.Code
(3) Captcha (4) Bar Code
In HTML the .............. element is

used to contain characters that should
be sub-script.

(I) <SCRIPT >

(2) <SUB>

(3) <SUB SCRIPT>

(4) <SUB SCR>

Which of the following is empty or void
element in HTML ?

(1) <p> (2) <br>

(3) <abbr> (4) <sup>
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C++ & @ d, 9 gu ®adr W
freme &Y
while(5) {cout <<"Hello";}

TH QU @R e IR Hello Teid
feRam ST |

(1) Pae wh (2) 9=

3) 9= (4) o

C++ H T 9 & fERkite™ | private,
protected TUT public aﬁa'sf&r
3M T 2|

(1) el off 8 § g fhae off e
2) ;ﬁﬁaﬂfw e | | IR R e

(3)§Wwwwaﬁ%aﬁaﬁq
(4) el ol aR qe=g Sk g4l wA |

............

Hilld, =ares, Jas Al wE @ St
1 Forgf B B R0 SugE B
(1) <cite > (2) <refer>
(3) <highlight> (4) <bold>

8 a¢H dd Th UM% G W [T&R & |
e Rl oY (add) 3™ & S @ 4
A B (o) & &, @ G F e
9 PRI (Tore) @ dEr anl o

(1) 8 2) 16
(3) 28 4) 64

%ﬁ?ﬁﬁﬁm‘ﬁ I @S T AR &
4, CRCH ad & :

(1) aEtHas RewRm $e
(2) TEfFETE ReTed oF
(3) EER ReFaee =
(4) gEEY RUEE #8

frr § 9§ @&9-a1 WLAN fraafd

() = @ °
(1) IEEE 802.11 (2) IEEE 802.11i

(3) IEEE 802.11b (4) IEEE 802.11g
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110.

111.

112.

113.

114.

115.

[A]

In context of C++, consider following
loop-statement :

while(5) {cout <<"Hello";}

Hello will be displayed
by the above loop.
(1) Only one

(3) Zero

time(s)

(2) Five
(4) Infinite

The keywords private, protected and
public may appear
declaration of a class in C++.

(1) in any order and any number of times
(2) at the most one time and in any
order

at the most one time and strictly in
the order

any number of times but strictly in
the order

In HTML Version 5 the element
is appropriate for marking up the titles
of works of art, music, movies, books etc.
(1) <cite > (2) <refer>
(3) <highlight> (4) <bold>

3)
“)

Consider a graph G of 8 vertices
containing no self loop. If there is no
more than one edge between any pair of
vertices, maximum possible number of
edges in G are :

(1) 8 (2) 16

(3) 28 4) 64

In context of error detection and
correction in computer networks, CRC
stands for :

(1) Cyclic Reduction Code

(2) Cyclic Redundancy Check

(3) Cyber Request Check

(4) Cyber Repetition Code

Which of the following
WLAN security standard ?

(1) IEEE 802.11 (2) IEEE 802.11i
(3) IEEE 802.11b (4) IEEE 802.11g

P.T.O.

specifies
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116.

117.

118.

119.

%+ d gy 7 od W OfER

[: U FO (Fe) B e qeed M,
FIE & bad Wiedh e e Bl
2 AR (TRIE) FT T © |

I1: U% O A ©leh T6e I, Fal &
asl offeided &1 AR S S R |

T FI B2

(1) &ad 1 (2) Fad 10

G) Id 3= @) TAIRTE 1

CSMA/CD Wi &3 arl T -eadh i
fefggar 10 Mbps B 1 AT SIfkad =R
%ﬂ%ﬁj&ﬁ) (gt o faems |feq aen

T Hebd 4 @ e aE H
TS &Y gU) 25.6 A 4HUeH ¢ |
W T CH SR T BRT ?

(1) 51293eH (2) 1024 S13¢d
(3) 64 d13cd (4) 32d3cH

DBMS & @< #, AF1 T1 @& T2 @
Gl SR 1 el X W STRd &
=T ergepd O e e

T1 : READ(X)
T1 : WRITE(X)
I8 Uh
(1) =& 9

(2) T 3gse
(3) ARG T
(4) SWRdeTd T

geed § Ut Qs & d<d § o/
BT H AT B
(1) TF & ot g %A 2 |9 2|

T2 : READ(X)
T2 : WRITE(X)
e 2 |

(@) ST FFA wF FIW R A
2Rl 2 |

3) ol s afese FM oA gEbtE
FHST A foram S 2 |

4) #fsST F5H F § W A AE
@ngmﬁzﬁaﬁwaﬁ
ST 2 |
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116.

117.

118.

119.

In context of C++, consider the

following statements :

I: Static member function of a class
can access only static data
members of the class.

II: A static data member of class is
shared by all the objects of the class.

The true statement(s) is/are :

(1) OnlylI (2) OnlyII

(3) BothIandII (4) Neither I Nor II

A network using CSMA/CD has a
bandwidth 10 Mbps. If the maximum
propagation time (including delays in
the devices and ignoring the time needed
to send a jamming signal) is 25.6 micro
seconds. What is the minimum size of
the frame ?
(1) 512 bytes
(3) 64 bytes

(2) 1024 bytes
(4) 32 bytes

In context of database, let T1 and T2 are
two concurrent transactions. Consider the
following sequence of operations on data
X:

T1 : READ(X)

T2 : READ(X)
T1: WRITE(X) T2 : WRITE(X)
Thisisa............... problem.

(1) Dirty Read

(2) Lost Update

(3) Incorrect Summary
(4) Unrepeatable Read

In context of a relation in database,
choose a false statement :

(1) There can be more than one super
keys.

A candidate key is a minimal super
key.

One of the candidate keys 1is
designated as primary key.

Primary key is obtained by
removing one or more attributes
from a candidate key.

2)
3)
4



120.

121.

122.

123.

124.

tF RAsed @ R § 59 ff w6

(1) BCNF
(2) 2NF
(3) 3NF
(4) 4NF

gEe &5 y.z + z B H A e
FET B 7

(1) y+y.z

(2) y+z

3) z

@) yz

Fr & & d-ar giord
S o 78 ' 7
1 x+xy=x

2) Xy+xy=y

3) Xy +xy=x

4) (x+y+2)=xy7
THUE-JaXa@Ee-2007 ¥ e foeTeh
FH B IUT, gaEH fder & i 9t
H AH FAA A Reied B OGN @
for, 29 o 5T ST B qEd ¢ |
(1) qa R=fe

(2) &R

(3) PBreemz

@) e T f=t

F= & 9 -8 31Yc feasd &1 ag
(afrs) g™ 78 & 7

(1) @mBe 99, fefteq &my

(2) T, HIZHIHN

(3) e, Sifa-fesh

(4) wifex, Ared

TS H TH
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120.

121.

122.

123.

124.

[A]

In a relational schema R whenever a
non-trivial ~ functional ~ dependency
X—>A holds in relation R, X is a super-
key of relation R. Relation R is
m........... .

The most suitable choice to fill in the
blank is :

(1) BCNF

(2) 2NF

(3) 3NF

(4) 4ANF

Boolean expression y.z + z is equal to
which of the following ?

(D y+y.z

2 y+z

3) z

) yz

Which of the following is not a valid
expression of Boolean Algebra ?

1 x+xy=x

2) Xy+xy=y

3) Xy +xy=x

4) (x+y+2)=xy7

In MS-PowerPoint-2007 after clicking
.......... button we can use arrow keys to
move the splitters which separates the
different sections of the current window.

(1) Move Split

(2) Ruler

(3) Gridlines

(4) Fit to window

Which of the following is not valid pair
of input devices ?

(1) Light Pen, Digital Camera

(2) Scanner, Microphone

(3) Trackball, Joy-stick

(4) Plotter, Mouse

P.T.O.
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129.

AT oM T1 S Sl oged Q W

T T S W FT o= B qer SR

T2 ¥ ST 8MEeH R W f[Afirte-mg &f®

X o & o 21 dee R

o

1:T1, Q& UG | & Wy Q H ford
TE! T |

I1: T2, R & 98 9T & Wj R & for@
SR

ST & & ST w2

(1) dadl (2) dad Il

() IaaIaqt @) Ta 18R T 81

THUg-SfEE g€ 2007 H THTEE @

F Al B TF Yod H gEfed & &

for ‘arge’ faeed sigaRT B 2 |

pEREET & T 9T S B )

(1) g <9, = 998

(2) YHH T, RN TR

(3) R o9, F9R a6

(4) IHF W, fa=fieiumm ud Gy
e

THUE-THI H, Uh O & =18 foreml
IR AR & & U &

Fe WYET B HH E |
(1) BAHTTEXT (2) REPEAT
(3) EXACT (4) REPT

SATA & ard ? :

(1) difer tfeg IaET TERues
(2) et TRy Sl TRITue

..........

...........

(3) e Tsdites el Teane

(4) THue feq e afdTme
THTY-UfavarEe-2007 ¥ @i + H Sie-de

gﬁrgﬁa&ﬁzﬁ ........ % for g el
|

(1) TR Fl GAH
(2)§R§qﬁ®ﬂﬁ€

(3) ERU TRT T

(4) BeX qY1 R @M
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128.

129.

Let transaction T1 has obtained a shared-
mode lock S on data item Q and
transaction T2 has obtained an
exclusive-mode lock X on data item R.
Consider the following statements :
I:T1 can read Q but cannot write Q.

II : T2 can read R but cannot write R.

Which of the above statement(s) is/are
valid ?

(1) Onlyl (2) Only II

(3) BothIandII (4) Neither I nor II

To combine revision from multiple authors
into a single document, option 'combine’
is used in MS-Office word 2007.

This option is found under ..........

(1) Review tab, Changes group

(2) Reference tab, Captions group

(3) Review tab, Compare group

(4) Reference tab, Bibliography &

Citation group

In MS-Excel, to repeat a text for a given
number of times, we can use

function.
(1) BAHTTEXT (2) REPEAT

(3) EXACT (4) REPT

SATA stands for :

(1) Serial Active Technology Association

(2) Simple  Algorithm  Technique
Association

(3) Serial  Advanced  Technology
Attachment

(4) Simple Active Technique Attachment

In MS-PowerPoint-2007 short-cut key

Control + Hisused to .............. in the

document.

(1) Hide selected text

(2) Replace text

(3) Create hyper text

(4) Show header and footer
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TAUE-98 & e H, TRt

A AR B Th A & O AT U

A F @ T B o TR AR

% w7 § Hufed #d 2|

(1) 79 991

(2) Hel

(3) @E T

(4) EIHALSE

FEIE eRY ARTIT x F ITWT H

ail, HiAeX onuia hpMEeee @hiH

% wad &, G B A B

I: XQ'{GAbEIFT wait() T signal() ST
FT & Sga fpar S @ ¢ |

II: 3 999 P AReM x. wait() &

ATEA Hl & ol P 09 T fHaitad
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signal() T ARA I |

X. signal() MY 3k U Mafad

TEH H G AR FHA & AR AR

FE UG g T 8, @ I

............

I :

S T9T & Bl
(1) 1T& 11 (2) 11 Ug Il
(3) 1Td Il (4) LI Td I

Uifeday fawey onfhdday & ded |
Red &= &1 gfd Y
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g % Ud% UG ge% B qu 0%
YR 1 ST WAL Yl g | ST U
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(1) 929 qr ftheex

(2) Rafsred

3) =

(4) FIEE FAX

THUE-TEE-2007 8, e § @ e
B o9 fRuEe gu H 9T S © 7
(1) ¢ dg feex

(2) H91 U §X

(3) wHe deX

(4) FHIEITTA BIEET
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130.

131.

132.

133.

[A]

In context of MS-word is a
series of commands and instructions that
you group together as a single command
to accomplish a task automatically.

(1) Mail Merge

(2) Macro

(3) Cross Reference

(4) Hyphenation

Choose true statements in context of

monitor based synchronization scheme

that uses condition type -variable X :

I: Only wait() and signal() operations
can be invoked on Xx.

IT: If process P invokes x. wait()
operation; then P is suspended until
another process invokes x. signal().
The x. signal() operation resumes
exactly one suspended process and
if no process is suspended, then it
has no effect.
(1) Tand I

(3) I'and III

I :

(2) I and III
(4) L 1I and TIT

Fill in the blank in context of software
system architecture :

In............ architecture, the processing
of the data in a system is organized so
that each processing component is
discrete and carries out one type of data
transformation. The data flows from one
component to another for processing.

(1) Pipe and filter

(2) Repository

(3) Layered

(4) Client-Server

In MS-Excel-2007, which of the following
is found in the home tab Clipboard group ?
(1) Sort and Filter

(2) Merge and Center

(3) Format Painter

(4) Conditional Formatting

P.T.O.



[A]

134.

135.

136.

137.

138.

=T giorae @il W R &Y
[ xy+xy IT: XOR(X,y")

I : XOR(¥, y)

ST @b § B9

NOR SR & e & & ?

(1) 1T 11 (2) 1T 11

(3) I wd I (4) L1 Tg I
fgeror o, &9 AR HgeX § fhdl o
F IH-TTE B B [ Dol I |
foepey ¥ oI 2 |

(1) fehice T

(2) TR el

(3) feama Fe

(4) 9T Ud wied

A (famw) § (34.36),) @1 99 ® ¢
(1) (10010.0101),

(2) (10010.10111),

(3) (1010.10111),

(4) (100010.010111),

THUE-AEE g€ H Qifehe g 'Cul' +
=" (‘Bgiel’ FHol T =" H A ),
P SR % forg fpar e B
(1) |a-fepe M & form

2) gR-FFe T % fou

(3) 8Y g Frel 1 feE@M & foe

(4) e H TwH F fau

UF AN W A S H he, A
T AT FAY w1 AT T (v
TEH) HAA: 5 A-GEE, 100 HI-HHS
qgr 10 Fefll-8avs B 3 fee WM a9
TN % [T 80% q9r AN AH & fU
99.5% B, @ TN ITEA H |AlUE
Hﬁ?ﬁaﬁaﬁwaﬁﬂmw%(ﬁm
(1) 512

(3) 10024

...............

(2) 1024
4) 128
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135.

136.

137.

138.

Consider the following Boolean
expressions :

[:xy+xy IT: XOR(x,y")

II1: XOR(xX',y)

Which of the above expressions

represents exclusive NOR operation ?
(1) Tand II (2) T'and III
(3) Mand III (4) I, Iand III

In windows, we go to option in
control panel to uninstall a program
from our computer.

(1) Default Programs

(2) Action Center

(3) Device Manager

(4) Programs and Features

Value of (34.36);(in binary is :
(1) (10010.0101),

(2) (10010.10111),

(3) (1010.10111),

(4) (100010.010111),

In MS-Office word short cut key 'Ctrl' +
'='" ('Control' and '=' key pressed
together) isused to ............... .

(1) Create Sub-Script

(2) Create Super-Script

(3) Show Hidden Marks

(4) Increase Indent

In a three level memory hierarchy, the
access time of cache, main and virtual
memory is 5 nano-seconds, 100 nano-
seconds and 10 milli-seconds respectively.
If the hit ratio is 80% for the cache and
99.5% for the main memory, then the
closest average access time of memory
hierarchy in nano-seconds is :

() 512 (2) 1024
(3) 10024 4) 128
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144.
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ARy el e H /
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(1) ErpHes™

QEI

(3)
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(1) 1MB, ITB (2) 1GB, ITB

(3) 1KB, IGB  (4) IMB, IGB

Fr=t & & @9-81 99 (6103)g & SR
7T B 7

(1) (110001000011),

(2) (C43)56

(3) (3139);,

4) (30103),

............
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(2) @Ee UA, Si-Rew
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In mass storage devices......... is
process of rearranging/relocating many
small non-contiguous blocks of data,
into fewer contiguous big-sized blocks.
(1) Defragmentation

(2) Paging

(3) Booting

(4) Restoring

Which of the following is not related to
synchronization in Operating System ?
(1) Bounded Buffer problem

(2) Readers-Writers problem

(3) Dining Philosophers problem

(4) Belady's Anomaly

220 bytes and 240 bytes are respectively

equalto .......... and .......... .
(1) 1MB,1TB (2) 1GB, 1TB
(3) 1KB,1IGB  (4) 1MB, 1GB

Which of the following value is not
equal to (6103)g ?

(1) (110001000011),

(2) (C43)4

3) (31399

(4) (30103)4

In MS-PowerPoint-2007, comment
about the selection can be added using
new comment option found in
comments group under .......... tab.

(1) Design (2) Insert

(3) Review (4) View

Let A and B are two devices used to play
video games. In A there is provision of a
handle on a base and buttons for pressing
/revolving, while video games are played
using B holding it in both the hands and
moving it in the air this or that side. Most
suitable names for A and B in order are :
(1) Joy-Stick, Game Pad

(2) Light Pen, Joy-Stick

(3) Game Pad, Track Ball

(4) Game Pad, Joy-Stick

P.T.O.
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145.

146.

147.

148.

149.

150.

Which of the following is not a phase or
activity of requirement engineering in
context of software engineering ?

(1) Feasibility study

(2) Requirements elicitation and analysis
(3) Requirement validation

(4) Component specification

In windows which of the following,
helps protect users from malware and
other potentially unwanted software ?
(1) Windows Mobility Center

(2) Windows Defender

(3) Indexing Options

(4) Windows Updates

Sum of (87A);¢+(50B);¢ is :

(1) (3461);9 (2) (3472)g

(3) (9EA)6 (4) (63215)g

Which of the following is not a type of
computer port ?

(1) SCSI (2) POP3

(3) PS/2 (4) USB

What is the output of MS-Excel
function = COMBIN (4, 2) ?

1 8 (2) 6

(3) 16 4 2

In context of software testing, which of
the following testing is not a level or
type of development testing ?

(1) System testing

(2) Unit testing

(3) Release testing

(4) Component testing

Level-3/4321
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6. Answers to questions in answer sheet are to be given by

darkening complete circle using Black ball point pen as

shown below :
O @ ® @

The answer will be treated wrong, if it is marked, as given below :

©OR &>

If you fill more than one circle it will be treated as a wrong
answer.

10.

11. U=

12.

13.

14.

15.

16.

17.
18.

19.

20.

. % B W—gﬁﬂrbl # 39 o & forg & E @relt SFE W & &Y | (Rough work should be done only in the space

provided in the Question Booklet for the same.)

. T IR Bad OMR TR U6 R 81 3ifdhd &Y | 30 IR &IHYdd 2Afhd T | IR g =g 29d Joidh (ABE Fogs) Bl

T g ® (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

LTS T & forg Ry g aR et § 9 3fa fadwer & fw OMR STR 956 W &ad Ud gd @I & T Re Pl ard

wrge 9 9 T Th IR SR 3ifd BT B 971G I dGoll el off bl 8 | (Out of the four alternatives for each question,
only one circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

el gHARad o 6 59 SR 45d B Hiel 9 WY Td I R BIg 3 M9 7 M | 3ngedi =1 gl SR U3d
# feiRa v @ srfaRad e=u 7 foRd | (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray marks on the Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer
Sheet.)

—gRAPT T IR TS HT SAFYED JANT By, Fifd B aRRefT # (ge—gRaer wd SR w96 & wAie 3 e
B! RAT BT BredR) T YT YRAST T ST T8l HYATs WG | (Handle the Question Booklet and Answer Sheet with
care, as under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

THA—gRTHT /IR TFF H Y Y HHG BT el el WP A WINER dic H A | (The candidates should write the

correct Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

mﬁﬁﬁmm/¢aﬁmwaﬁ?ww$aﬁﬁmﬁﬂﬂwaﬁm—w gfad a1 gRfIRad HITST Bl
i, ISR, Hi9sd BIF, Soldci~ih sqmwmﬁﬂﬂmwaﬁﬂmﬁaﬁéﬁnﬁmwmﬁwﬁﬁél
(Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic
device or any other material except the Admit Card and Identity Card inside the examination hall/room.)

TfId gRT 8 oM W YIS gl 3T gawr dre ([ o) 3R uga™ ux Wi | (Each candidate must show on
demand his/her Admit Card (Roll No.) and identity card to the Invigilator.)

P efetd AT Tded B A SH‘T% P 77 PIE el JmuFT I |7 B | (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

HRIRT TAdETH BT AU IR UAB QU 1 v AR A€ R SEART BRAER [Py 97 angefi uden gfa 7€ v | Ay
el apell 1 A IR EWER A1 W BWER el by A1 g AMI SN {6 S99 IR U3d 8] dlerl & AR I8
JTfad | &1 AT AT STYT | OMR SR U3d § FuiRa o w | anafdial gmr 9 w19 & o &1 foeme
wrrmmélw@m%wﬁwwmmmwmﬁswﬁﬁwﬁﬁwﬁmmﬁwﬁaﬁ
qEAT 7A@ E|§T‘f AITTH §8d ®H | (The candidates should not leave the Examination Hall without handing over
their Answer Sheet to the Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the
Signature Chart second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case.
All candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which should
be properly inked i.e. they should not be either over inked or dried in nature.)

golagid / gxcarferd URderd &1 SUANT afSid & | (Use of Electronic/Manual Calculator is prohibited.)
et Bt # MmeRvr & forg, apwneff fyarforast # & 13 ufhan / feen—fder g 98 & it el vd fftgst & Ry s < |
31‘3’%1?[ R e IOl e o ) B Re T IR IO ot R ol 1 o | AR 8FTT| (The candidates are governed by

Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

A BT H U DT 3R SR Y=Ib BT I 9T AT T BN | (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

Wl T 8 W, gl Fe /B Bled W Yd SR UFG HE-UUdAS BT @A WU | gl o W s
W—W P o ST A& €| (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator
in the Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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